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Subject — Maths
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Class — 12"
| — 3 90 qulics — 100
Time — 3 hours M.M. - 100

HA IAI DT AT — 29
fader : (1) ot ue erfvamrd 2

Instructions : (1) All Questions are compulsory.

(2) DGR YANT Bl AT T8 T |

(1) use of calculator is not permitted

(3) UTT . 1 H 4 TH ANTAYSTNIT U 2| TIF W 1 3id FuiRa 2|
(3) Question No. (1) to (4) are very short answer type questions. Each question
carries 1 mark.

(4) we9 . 5 F 12 db UAP WR 2 3w iR 2|

(4) Question No. (5) to (12) carry 2 marks each.

(5) Yo % 13 W 23 TH < SN U 2 | UIH U R 4 3 Inefed 2|
(5) Question No. (13) to (23) carry 4 marks each.

(6) T2 B 24 W 29 TF <ef ST U 2| W 6 3fh RT 2|

(6) Question No. 24 to 29 carries 6 marks.

1) afs A= [3_22’1 ’11'1]@3 FghAU Mg & dl A BT A Sd
BT |

2) fon/“tanx dx &1 J19 STd DIy |

(3) WW%=(1+x2)(1+y2) T BT PINTY —

(4) af< |@|=1,|b|=2 AT @.b=17 d O HT A Fq HINITY —

(5) TP Sl H 6 HIcll MR 4 & 97 7, 2 A FAPrell It &, SH1 8 € 8
DI FrAASAT =TT BT |

(6) 3radme AHHERYT sec’xtanydx+sec’ytanxdy=0 BT & BT |

(7) afe &t e X@1 o &d Breay cosa,cosP,cosy &1 A Rig @Iy fh
sin’o+ sin’p+ sin’y = 2

(6) [ —=X_dx &1 WM Id B |

log (sinx)
©) afx y = eX’&r a2 @ A T A -
a+b b+c c+a
(10) A9 &I BN — A = | ¢ a b
1 1 1




(11) It y = tan~t | = COSJCETFI?Z—ZEWHWWWI

1+cosx

(12) Rrg I & — Cos™ (4x7-3x) = 3cos'x
(13) g HIY b — 2tan’Vx = cos™ (1 x)

1+

3T
_ —1 [ vitx—v1 x]_ E_l -1
Rig #IfSTT f6 — tan [MWW L — 5057 x
a—b—c 2a 2a
(14) 991 STq BINY — A=| 2b b—c—a 2b
2c 2c c—a-—>»b

x 2x+3?:{ﬁ
(15)K$ﬁﬂ?ﬂﬁ$%l{'wf(x)={ x+1 x#+ -1 - w~ wqa
k

e x=1
2 |
(16) I = [—=—dx &1 AF AT HIY —
sin (x—a)
(17) sinx + cosx &1 IS A FMd DITT —
34T

flx) =x?—1 % foIv Siaxret [1,2] @ <IIST & ARIAM UHT DI AT DIy
(18) Ifd f(x) = e?* 3R g(x) = logVx,x > 0Tl (fog)x TA (got)x BT A
ST BITY —

M
AT {6 N gYUIial &1 @ © | I N x N9geag § uR¥mNT e e R U
8l fB@b) R (cd) © a+b =b+c &I abcd € N Al fog @Iy f& R Ih
Joudr §WY 2|
(19) 3rTHA HAHIHIO %+ 3y = e™%* @I & DINIY
(0) ufe «wfdwr A=i—j+k,B=3i+j+2k dqa C=i+ 4 —3k
AT § a1 A PT A9 ST HIRTT —
(1) afe lal=3 |b|=5,lcl=7 3 a+b+c=0%8, a g @IT &
acem b® dra &1 b T/ 7|
(22) afk P(A) = 1/, ,P(B)=1/; @ P(ANB)=1/, & @ p(4/p)aen

P(A U B) ®T A9 A HINY |
(23) IfT AGRBH TR x BT WG de e f&am T & —

X 0 1 2 3 4 5 6 7

Px) |O K 2K 2K 3K K’ 2K | 7K*+K

I #IRTT — (i) K (i) P(x < 3) (iii) P(x > 6)



STAdT
T N1 U T P BT & A1 a,PB,y,d IO 9971 2 | o Rig Sy —

cos’a+ cos B+ cos™y+ cos’d=4/3

ged : (24) YRS AlIT3 BT YART DR Y AT

-1 1 2
A=|1 2 3|=a&1 A™l3rd #IfU|
3 1 1
T ndx

BT HIH S DI |

93 - (25) fo a?+cos?n+b2sin2x

T (2a)éﬁ“€i§?f’;—2+y§®ﬁifaﬁw%awamaﬁﬁm

SREI
TRIAT 4y = 3x2 T @7 2y =3x+12 ¥ fiR &F &1 9% o

PIFTY |
ge : (27) el fafyy gRT A XRae A THRT BT BA BIVY —
~gAdH "9 z = 200x + 500y
o 1 SR @ sfavid x + 2y > 10
3x +4y>243Rx>0,y=>0

9o © (28) QT AR @RI ’:3:3'_5;:2_3 SN x_+33=y+7=Z;6a%e|“|dff‘3rreg;mH

-1 1 2
0 w1 SIS | (@rcita fafer gw)
SR
UHh XET Uh o9 @ fqHul & AT o,B,y,d PIoT g9t ® | dF g difvTg —

cos’a+ cos’B+ cos™y+ cos’d=4/3

2
g9 : (29) T y = Ae™¥ + Be™ & Al U3V ﬁ?%—(m+n)2—z+mny=0
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fawa — AT (204)
Subject — Maths
Pl — qREA!
Class — 12™
|G — 3 gUC quries — 100
Time — 3 hours M.M. - 100

HA I DI AT — 29
fcer : (1) o wee Srfard g |
Instructions : (1) All Questions are compulsory.
(2) BeraereR AT @Y R A 2
(2) use of calculator is not permitted
(3) U . 1 ¥ 4 P SMATYSTIT U 2 | TP W 1 3id MR 7 |
(3) Question No. (1) to (4) are very short answer type questions. Each question
carries 1 mark.
(4) U39 . 5 ¥ 12 TF TP W 2 3P [iRa 2|
(4) Question No. (5) to (12) carry 2 marks each.
(5) U2 B 13 | 23 TP <" ST U 2| UAD YT W 4 3 Arefed 2|
(5) Question No. (13) to (23) carry 4 marks each.
(6) 2T % 24 T 29 TP <1ef ST U B WR 6 3fp AiRT B
(6) Question No. 24 to 29 carries 6 marks.

e (1)?11%31TQEA=[_1 _11] IR A’=mA B A m &AM T DY —
-1
1
geq : (2) [ cosec x dx &1 HM farEy —
Write the value of [ cosec x dx
2.2

93 : (3) dded HHIDRY (Z_y) + cos (Z—z) = 0 @ Pifc g Trq faRkay —

x2

if matrix A4 = [_11 ] and A% = mA then find the value of m

Write the order and degree of differenttional equation
d?y 2 dy\ _
() +eos(@) =0
ge : (4) x,y 3R z &AM oG BIQ arfe |fewr d = xi + 2f + zk sk b = 21 +
yj + kaas €

Find the value of x , y, and z so that the vectors @ = xi + 2] + zk and b=20+ yj + k are
equal.
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YR :

YR :

YR :

YR :

YR :

YR -

YR :

YR :

(5) afe sin (sin‘1§+ cos‘lx) =1, 2 x B 99 A1 BT |
If sin (Sin‘% + cos‘lx) = 1 then find the value of x .

(6) x T A ST HINT Al |§ 4=|26x i|

1
: 12 4] _ 12x 4
F1ndtheva1ueofx1f|5 1|— |6 x|
A2
(7) y=cos‘1(1+i2) 0<x < 1P xH AU AqHAT ST DI |

a2
Differention y = cos™! (1+z2) with respect to x where 0 < x <1

8) af f:[-5,5] »R Udh @dHeg Hod g AR afy f1(x)fed +ff fig w
I A8l BT 7 , dI RIg 3y f& f-5) 2 A5)

If f:[-5,5] =R is a differentable function and f1(x) does not vanish any
where , then prove that f{-5) # f(5)
) fex(”sm )dx BT H ST RIRTY —

1+cosx
. 1+5i
Find the value of [ e* ( o )
1+cos

(10) @l @ H/A y = asin(x + b)RTHH a, b WS MR T, BI FHUT B dre!
JTqH] FHIBROT Bl ST DHITT |

From the differential equation representing the family of curves y = asin(x + b)
where a and b are arbitrary constants.

(11) fearsy f5 Rard 2 =22 =2 iR I=2 =2 weR @ 2

7 -5 1 1 2
: -5 2 :
Show that the lines xT = % = % and% = % = g are perpendicular to each - other

(12) v& gRaRes fam @ @i, T 9 g3 arg=sar @3 7|
E: 73 & R R ©T 7|

Fofio we # @ @, o P (2) w10 i

Mother , father and son line up at random for a family picture.
E = son on one end

F = father in middle , then find P (%)

1+a 1 1
(13)geigu fd | 1 1+b 1 |=abctbetcatab
1 1 1+4+c¢
14+a 1 1
Show that [ 1 1+b 1 | =abctbctcatab
1 1 1+c¢



YR :

(14)asﬁ?ba%qwﬁéamaﬁﬁn,ma%%ﬁf(x):{xi; . iig

gRT gR9IT Weld x = 3 R Had 2 |
Find the relationship between a and b so that the function f debined by
_(ax +1, if x<3.
f) = {bx+3 if x>3

15) €38V & sin 13—sm 18 _ o513
(15) T

85

1s continuous at x = 3

-1 84
85

8
1= = cos
17

3
Show that sin™?! <= sin
AT

Ag HIfvTu — tan‘1§+tan‘1;+tan‘1§+tan‘1

Prove that tan™?! l + tan~! l +tan~?! 1 +tan~?! % — %

|+
I

dx wrm:rgnﬁaﬁﬁm—

cos 2x+2sin%x

cos 2x+2sin?x
(16) f cos2x

Find the value of [ dx

cos2x

(17) 31ddhe FHIBRU] Z—i’ + ycotx = 2x + x%cotx(x # 0)& faRre g =
ey, fam gom & fr y =03 x =~

Find the particular solution of thedifferenttial equation Z—z + ycotx = 2x + x%cotx(x #

0) given thaty =0 when x = =

(18)Qasa1f3ﬁ$€rr%ﬁsnd%‘f\mqs4ﬁﬁswwaﬁam%‘|a€ww
Pl IBTAAT © 3R IdATT & b S R M dTell AT 6 & | ST UIIHT SId
DHINTY o O TR 1M aTell T 9%ad H 6 2 | &7 MY 39 910 ¥ 98Ad & &
AT BT oI TS H fF T < § |
A man is known to speak truth 3 out of 4 Times. He throws a die and reports that it is a

six. Find the probability that it is actually a six. Do you agree that the value of truth
bulness leads to more respect in the society ?

(19) afs a=204+2j+3k,b=-1+2j+k3iR ¢=31+js9 UoR & &
@+ b, C W AN | A A BT AN S BT |
If a=2i+2j+3k,b=—-i+2j+kand c=30+jare such that @&+ Ab,is
perpendicular to ¢ then find the value of A

(20) T IRTA =T BT FFH f(x) = 4x3 — 6x2 — 72x + 30 ERT Ua< B
fla) FR=R 989 (b) FRAR &9 T |

find the intervals in which the function f given by f(x) = 4x3 — 6x% — 72x + 30 is (a)
strictly increasing (b) strictly decreasing
S

g @Y {6 o & g & aravid 91 Smaal H 9Ff &1 &3hel Seadq Bl
g




Show that of all the rectangles inscribed in a given fixed circle , the square has
the maximum area.
g ;. (21) TP < D D A9 IBTAl IR U Al &l ST BT A S DIoTY |

find the mean number of heads in three tosses of a fair coin.
ged : (22) <unsy fo Refa afewi 4i+57+k ,—f—k ,31+9j + 4k 3R —4i+
4] + 4k 910t SFEE AR fag A, B, C 3R D 99deid 2|
Show that the four point A,B,C and D with position vectors 41 + 5§ + k ,—j —
k ,3i+9j + 4k and —41 + 4] + 4k respectively are caplanar
ge : (23) R1g @IS f fR—> R

1 g x>0
f9=10 ge x=0
-1 3t x<0
ERT Ua< Bold = dl Thadl 8 3R 7 3BIEH ¢ |
1 if x>0
Show that the /- R— R given by f{x)=40 if x=0
-1 if x<0

Is neither one — one nor onto
3AdT

T qg=ad {1,2,3,4,5} " a *b = aAAT b BT LCM RT URMINGT * Ua fgamemd
AihaT 2 ? 319 IR AT I Y 9qensgy |
Is *defined on the set {1,2,3,4,5} by a * b= LCM of a and b a binary operation
? justify your answer

g3 (24) TP MER faT &1 YR & Al x 3R y & 59 YHR A argar € &
AT § fAerf® A &1 &9 F HH 10 AFG f[ASIAT B &1 &F 4 BH 12 A9D
3R faei™= C @ 8 A& &1 1 Kg ¥l # faerfiql @ #mn fA=falRaq aroh

£l )
AT faer™+ © faera= <1 faeree <
X 1 2 3
2 2 |

aﬂvaxzy%1Kgmn§aRs163ﬁ?m@yzﬁ1ngm11?aRs20%|aT%ﬁ
JAER & ford 80 &1 FATH oI M DISIY | IUYdd bl Yeb IRgeh YU
IR 997 B UT% §RT 8 B Ul fbell UM ASOT BT =gAqH Jed Sl
BHINTY | 39 U H {5 Jedl &7 Sooid 2|

A dietician wishes to mix to gether two kinds of food x and y is such a way that the
mixture contains at least 10 units of vitamin A , 12 unites of vitamin B and 8
units of vitamin C, The vitamin contents of one kg food is given below :-

food Vitamin A Vitamin B Vitamin C
X 1 2 3
y 2 2 1




one kg of food x cast Rs 13 and one kg of food y cast of Rs 20. Find the least
casts of the mixture which will produce the required diet ? Formulate the above
as a LPP and solve it graphically. What values are described in this question ?

. (25) FHIERYT BT B HIIY (QMTE fafe ) —

3x-2y+3z=8, 2xty-z=1, 4x-3y+2z=4

Solve the equations (by matrix method.)

3x-2y+3z=8, 2xty-z=1, 4x-3y+2z=4

:(26)aﬁa‘qﬁ2—i+i—z=1ﬁﬁiﬁamaﬁwaﬁaﬁﬁm(wwﬁf€rﬁ)

Find the area anclosed by the Ellipse Z—z + Z—j = 1 (by integration method)

T
AR & ITINT Hd U Uh U B &1 &5hed 9d dHifoe foraer oy
(-1,0),(1,3)7d (3,2)8]|
Using integration find the area of region bonded by the triangle whose vertices are
(-1,0),(1,3)and (3,2)

T xsinx
@) [, ———— dx 1 A 0T IR —
T xsinx

Evaluate [

0 1+cos?x

- (28) WA e Afeer FHIaRv 91 falad &, & 9 &1 =aq 0 s1a difoig |
r=({1+2+3k)+ 21(i-37+2k) 3R
F=(4+5+6k)+ pn(20+37+k)
Find the shortest distance between the line whose vector equations are
Fr=(0+2+3k)+ 21(1—-3j+2k) and
F=(4+5/+6k)+ pu(20+37+k)
SEEI

SH FHAA BT FHIGHROT S DI Sl ATl 3x—y+22-4=03dR x +y +z
= 2% yfoeged o 95 (2,2, 1) | 8ax Sl 2 |
Find the quation of the plane through the intersection of the planes 3x —y + 2z — 4
=(0 andx +y +z =2 and the point (2, 2,1)
: (20) afe y = (tan™1x)? ? @ <isvy f&
(x?2 + Dy, + 2x(x®> + 1)y, = 2
Ify = (tan™1x)? then show that (x% + 1)y, + 2x(x? + 1)y, = 2

0000




